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Sex Linked Trait #2

A woman who is a carier for hemophilia maries a normal man. Use X" for nomal and X" for

hemophilia

~Write the genotypes: Man Woman
~Complete the punnet square
-Offspring

% female normal % female normal carier % female colorblind

% male normal % male colorblind
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Sex Linked Trait

A colorblind man marries a woman who s a carrier for the colorblind gene. Use X" for nommal and X
for colorbiind.

~Write the genotypes: Man Woman
~Complete the punnet square
-Offspring
% female normal % female normal caier % female colorblind

% male normal % male colorbind
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Dihybrid Cross

Homozygous green frog with heterozygous spots mates with a Homozygous brown frog with
heterozygous spots

Brown =B Spots =T
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Dominant or Trait

In mice black fur is dominant to white fur
A heterozygous black mouse mates with a white mouse. Use B for dominant and b for recessive.
-Write the genotypes: Black Mouse ‘White Mouse.

~Complete the punnet square

-Offspring % black % white
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Recessive Trait

In humans free ear lobes is dominant and attached is recessive. A man with Heterozygous free ear
lobes marries a woman with attached ear lobes. Use F for free and f for attached.

-Write the genotypes: Man Woman

~Complete the punnet square

-Offspring % free % attached
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Codominant Trait/Blood Type

A man who is heterozygous type B blood marries a woman who s heterozygous for type A blood.
-Write the genotypes: Man Woman

~Complete the punnet square

-Offspring %A %8B % AB %0





image4.JPG
Incomplete Dominance Trait

In human nose size is govemed by incomplete dominance. Large nose is dominant. Use the letter N
to represent the alleles. A woman with a Large nose marries a man with a small nose.

-Write the genotypes: Woman Man,

~Complete the punnet square

-Offspring % large % medium % small





